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LAW
Paper - 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All
questions are compulsory.

1.  The Preamble to Constitution of India proclaims that, ‘we, the people of India,” have
established

(1) A Sovereign, Socialist, Democratic, Republic only
(2) A Sovereign, Secular, Democratic, Republic only

(3) A Secular, Socialist, Democratic, Republic only

(4) A Sovereign, Socialist, Secular, Democratic Republic

2. Match List — I with List — 1l and give the correct answer by using the codes given below :

List—1 List— 11
a.  Atrticle 16(3) Amended by I. 1*' Amendment
b.  Article 19(5) Amended by ii. 17" Amendment
c. Atrticle 19(6) Amended by iii. 7" Amendment
d.  Article 31A(2)(a) Amended by iv. 44" Amendment
Codes :
a b c d
Q) iaiioivod ii
2 i i v
3) i i v il
4) i i [ 0\

3.  Read Assertion (A) and Reason (R) and give the correct answer with the help of codes
given below :

Assertion (A) : Under Art. 226 of the Constitution of India the High Court has
discretionary remedy to issue writs.

Reason (R) : If the High Court is satisfied that the aggrieved party can have an adequate
remedy elsewhere it can refuse to grant writ.

Codes :
(1) (A)and (R) are true and (R) is the correct explanation of (A).
(2) (A)and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.
(4) (A)is false, but (R) is true.
Paper-I1 2 JA-058-17
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A : 39 U0 H g= (50) SE-faehedid U9 €1 Ueish U9 o &t (2) 37 € | qeft ue o1 €

1.  9RA & GiaUM S TAeE | =S S TS ¢ [ B0 9Rd &% AN I T A & |
(1) aeT U S, THTATE, Fhaies ToRT
(2) AT TS T, TATRUE, T TR
(3) HaeT U TATHRUET, GHISTATRY, TSI IR
(4) UH TN, GHSTATR!, HHRUET, Thdieh TR

2. GO - | I gH — || ¥ e 9o $e Sl FerdT ¥ Tel 9% S0

= - | = - 1
a.  3FT=T 16(3) 1 FEET T i )| R R
b. =T 19(5) F WM i, 17 9 TemeT g1
C.  3TT=% 19(6) I TeNEH iii. 79 Gy 5R
d. =% 31A(2)(a) T TeleA iv. 449 TemeT g
T
a b c d
(1) @i oivooi i
) @i i i v
R) i i v il
(4 i i i v

3. ot (A) 7T @ (R) I U 31X Fe il Ferdl ¥ Tal TR I

AR (A) : IR TiTg™ & T 226 % A o9 A ®i ke gRT foesyet sT=m
I T SAHER U & |

% (R) : 3 o0 <A 39 919 9 T & o ditgd 9eT 37 Sfad SUar wTe s 9ehdT &, ot
e e ST A ¥ TR R Gl § |

FT

(1) (A) 3R (R) Tl &, @ (R), (A) Ft Sfod =amer Far ¢ |

(2) (A) 3R (R) &l & T (R), (A) I 3tad = Fal L |

(3) (AW g W(R) A& |

(4) (A)TEdE, W(R) W T |




4.  Match List — I with List — 1l and select the correct answer using the codes given below :

List—1 List— 11
(Cases) (Principles)
a.  Indira Nehru Gandhi v/s. Raj Narain . Departmental bias
b.  Gullapalli Nageswara Rao v/s. ii.  Preventive detention
APSR.T.C
c.  Fagu Shaw v/s. State of W.B. iii.  Rights of inmates of protective
homes
d.  Upendra Baxi v/s. State of U.P. iv. Rule of law
Codes :
a b c d
@ v i i il
2 iav il
(3) v i T
4) i i iV
5.  “The Fundamental Duties incorporated in Article 51A of the Constitution of India are
mere reminder to the citizens, with no enforceability, to ensure their compliance” was said
by
(1) Justice J.S. Verma (2) Justice O. Chinnapa Reddy
(3) Justice Y.V. Chandrachud (4) Justice P.N. Bhagwati

6.  Justice Mukherjee C.J., speaking for the court, stated “that though the executive power is
vested in the president, the president is only a formal or constitutional head of the
executive. The real power is vested in the Council of Ministers on whose aid and advise
the president acts in the exercise of his functions,” in the following case :

(1) U.N.R. Rao v/s. Indira Gandhi

(2) Ram Jawaya Kapur v/s. State of Punjab
(3) Jayantilal Amratlal Shodan v/s. F.N. Rao
(4) Sardarilal v/s. Union of India

7. The right of a person to be appointed as a guardian of his minor children under the
personal law is not a fundamental right was decided by the Supreme Court in one of the
following cases :

(1) Mohd-Aslam v/s. Union of India

(2) Sahifzada Saiyed Muhammed Amirabbas Abbasi v/s. State of Madyabharat
(3) Khatri v/s. State of Bihar

(4) Mohd. Faruk v/s. State of M.P.

Paper-I1 4 JA-058-17



4, gt —|H G - || & Qe et qen A KU e wf FeEd ¥ el 9% g9

=t - | =t - 1
(FTee) (Fegta)
a. U AEE ME S ST AR i, T gerdma
b.  ToolUee ANYER T S TH UG, i,  Hars g
C. I IS S Ui¥ad et 59 iii. ORI e & A % SMIER
d.  SUx TS S ST IR WHR iv. fafer = emem
FE :
a b c d
@ v i i i
@ i v i i
@ v i i i
@ i i 0 v

5. “URdE Q€M % R 51(A) H I T T HifeTh e AN S I 38! a5 St
&, ST 3ot e, o1 Werd o gHrved sea1 € 17 9 fooqoft et & 2
(1) =IEgfa Stug. aEr (2) =aEYid N, Fa=TRE
(3) =mEHld g d5Tg (4) =Egld OreA, Se

6. ~IEUICTRT P Y T Sold §Y TF FRETHRT <AEgd . S, q@ST 7 Hel, “BTeiiich Ry
viferrat Tegufa # ffed €, o8 SEwicrn w1 fa% i a1 Taurite @ & & | ardtas
yifereralt w5t e # g & e Temdn iR GedhT @ SToHT HEERI e Tegafd QT HAT &
" Srei e feuqunt fohe et o <6t off ?

(1) USRS S ST et

(2) TH SO FIR THH IS T4

(3) TSl g oot TS SHH U, U, T
(4) TER AT SH IRAE T

7. W fafty & T o 1eaeh aed % ATIEs & ®Y | g e 1 fndt At a1 SR
3GHT HifeTsh SIHR el & | T B 7 Tg HFAT (FETcArad 5 F fhg qet § 5 ?

(1) HE™S FUeH TH TR 99
(2) IfEESTRT Y98 Ters STHRSTSIT STl SHH Heg YR Uid
(3) W T feRR TS
(4) HIEHR HEE T 7L TR T
JA-058-17 5 Paper-I1




8. According to Austin the positive law has following three attributes :
(1) command, sovereign, obedience
(2) command, sovereign, sanction
(3) command, obedience, sanction

(4) sovereign, obedience, sanction

9.  “The movement of progressive societies has hitherto been a movement from status to
contract.” This statement is of
(1) Hegel (2) Savigny
(3) Henry Main (4) Puchta

10. Match List — I with List — Il and give the correct answer by using the codes given below :

List— 1| List— 11

a.  The Concept of Law i Austin
b.  The Province of Jurisprudence Determined  ii.  Bentham
c.  Some Reflections on Jurisprudence iii. Hart
d.  Limits of Jurisprudence Defined iv.  Buckland
Codes :

a b c d
@) i i Y
() B T T iv i
(3) i i v
4 iv i i i

11.  Which one of the following is not a theory of corporate personality ?
(1) Fiction Theory (2) Interest Theory
(3) Bracket Theory (4) Will Theory

12. ‘A’ has a house and nobody should interfere with the enjoyment of proprietary right over
the house. This right is called

(1) Personal right (2)  Imperfect right
(3) Rightinrem (4) Rightin personam



8.  3iific o 3aR Trvaaress fafy #t FHefafea o foreramt g ¢ :

(1) SIS, |, SFre
(2) wHRE, W, W

(3) TERY, SFUEH, TR
(4)  Hr, ST, I

9.  “UNTIqeiieT WHST i Tiq 76 deh U | Hiog) ol SN @& " Te HT ¢
(1) et & (2) W=
() T (4) T=TH

10. gt — | 60 gl — |1 ¥ AT L T4 F Sl Feddl T el SR JM ;

-1 =t - 1

a. T HEC IAE A i, emeA
b. T WO 3w SREveH feeifite i, S
c. 99 o o1 SRasq iii. @
d. fofew oitw gRayey fewres iv. SIS
F !

a b ¢ d
@ @i i \Y
2 i iv i
3) i i v
4 iv i i il

11. fr=tefaa 5 9 e |1 e safade o fagia T8 € ?
(1) wiead fagia (2) fea fasia
(3) =re® (3% fagi (@) w1 (foer) T

12. ‘A’ % U U ThH & X f6dt 1 off 3T T & ST o Trfeh SR H g&deld et
AT AT | T 3D Fol @
(1) Sl SHR (2) 21Ul AMUHR
(3) wAaHr AfER (4) Al tfeHR




13. Match List — I with List — 1l and give the correct answer by using the codes given below :

List—1 List— 11
a.  Theory of Volksgeist I. Bentham
b.  Theory of Social Interest ii. Ihering
c.  Theory of Utilitarian Individualism iii.  Burke

d.  Gradual and organic process theory iv.  Savigny

Codes :

a b ¢ d
@ 0 i i v
2 v i i i
@ v i i i
4 i ivo i

14.  Who has remarked that “It is both practically inconvenient and also contrary to the best
juristic thought to deny its (International law) legal character” ?

(1) H.L.A. Hart (2) J.G. Starke
(3) Edward Collins (4) J.L.Brierly

15. Read both Assertion (A) and Reason (R) and give the correct answer by using the codes
given below :

Assertion (A) : ‘Res Judicata’, ‘estoppel’, etc. are examples of the General Principles of
Law recognised by civilised states.

Reason (R) : In the case of diversion of water from Muese, the Permanent Court of
International justice applied ‘Res Judicata’ and ‘Estoppel’.

Codes :

(1) Both (A) and (R) are correct and (R) is correct explanation of (A).
(2) Both (A) and (R) are correct but (R) is not correct explanation of (A).
(3) (A)is correct, but (R) is wrong.

(4) (A)iswrong, but (R) is correct.



13. gt — | B gl — |1 % Q1Y Gferd Y a9l e i Ferddl ¥ ¥el 3u¥ g9 ;

= - | = - 1
a. N S dieasTse i S
b. & SE Qv T2 i, R

c. AR I FHfereiam Sefasperfersa i, a%
d.  IS[eTeT Ug ST W Rt iv. @

FT:

a b c d
() I T | B (TR \Y
2 v i
R v i 0 i
4 i i v i

14. ¥ fewolt fFa 1 & o “STIEE ST & ST IR B THRAT, AFEINS €T F STGrErgol
T sie fafrer foamt & famdia ST & & 17 2
(1) UITAT & (2) SIS =
(3) UeHE Fife™ (4) Stuesierd

15. ATy (A) 71 99 (R) U T4 $ B Teal T el SS90 ;
AWHAT (A) T SIfeher’ TR I fHEr off 99 T §RT @R HU = ol HA &
= fagidl & ST T |
A% (R) : FE § UHT g Gad ga1g § SFRIg™ =g S TR SR_Ierd X Sjedrer aor
“TERIUA’ ST TN R o |

(1) (A) 3T (R) I & &, T (R), (A) i Tt AT HT € |
(2) (A) 3R (R) T T €, T (R), (A) H T&t SARSAT F&l e |
(3) (A) T T, W(R) AT |
(4) (A) T &, 3T (R) Wl & |



16.

17.

18.

Which of the following is not a “theory” propounded to explain the relationship between
International Law and Municipal Law ?

(1) Transformation Theory (2) Delegation Theory
(3) Fiction Theory (4) Specific Adoption Theory

Which of the following statement/s is/are correct ? Answer by using the codes below :

(@) The Charter of the United Nations came into force on October 24, 1945.

(b) The purposes of the United Nations are enshrined in Article 2 of the Charter.

(c) The seventh and the last principle of the United Nations states that nothing
contained in present Charter shall authorise the United Nations to intervene in
matters which are essentially within domestic jurisdiction of any state.

(d) The provision relating to suspension of a Member finds mention in Article 3 of the
charter.

Codes :

(1) Only (a) and (c) are correct.

(2) (a), (b) and (c) are correct.

(3) (b), (c) and (d) are correct.

(4) (a), (b), (c) and (d) all are correct.

Which of the following statement/s is/are correct ? Answer by using the codes below :

(@) “Mediation” is not “pacific means” of settlement of International Disputes.

(b) “Pious Fund Case” is an important decision given by the Permanent Court of
Acrbitration.

(c) “Retorsion” is a compulsive or ‘coercive’ means of settlement of international
Disputes.

(d) A leading case on “Reprisal” is the “Naulilaa Incident”.

Codes :

(1) Only (b) is correct.

(2) (a), (b) and (c) are correct.

(3) (b), (c) and (d) are only correct.

(4) (a), (b), (c) and (d) all are correct.

Paper-I1 10 JA-058-17



16. SARIET HHA TN TRUIART BT b Hee i AT ¥ FAAEd § F i 91 fogid defid
TwE?
(1) s fagia (2) v fagia
(3) o fagia (4) fafere st fagia

17. TAfcfad 5 ¥ &4 978 %2 T8t &/ 2 7 iU T el o SR WIS
(a) TSR T T AR 24 T, 1945 T qTelt g3 |
(b) TR T T ST A o SwS-2 § e ¢ |

(c) Eged o T Aiar qan ifay faid 7 Fedt & o HisT 9et § uar 32 off el & S ot
T o AT Bc] THel H 3H ST HL I DR < &l |

(d) et T5eT g & Feie & TaE 9oy % 3 ws-3 H R U e |

e

(1) e (a) 3R () WA T |

(2) (a), (b) 3R (c) W & |

(3 (b), () 3R (d) W & |

4) (@), (b), (c) 3R (d) T I E |

18. THAfAREd H ¥ 9 |/ FHoF Tl &/8 ? Al 75 T Fel & SMER WIW S
(a) ST foamst & FHETeM % oy “Hea@rar g IMdyor 3urT =& € |
(b) TR AR T (1) FRT AT 71 Th Hewaqul Haell § — ‘I e Ha’ |

(c) ‘SamE ®NER (ReeF) FRIL™ garst i ere & ‘ared &= A1 IeeA’ HA arel
I E |

(d) iferen Sfage’ “ufasiia’ 1 Uk Hewaqul SSEUT & |

(1) et (b) W& |

(2) (@), (b) T (c) W€ |

(3) (b), (c) 3 (d) Wt ¥ |

4) (a), (b), (c) AR (d) Tl W € |



19.

20.

21.

Which of the following statement/s is/are incorrect ? Answer by using the codes below :

(@ The Commission on Human Rights was established by the Economic and Social
Council in February, 1946.

(b) The General Assembly decided to replace U.N. Human Right Commission by
Human Right Council Vide Resolution 60/251 of 15 March, 2006.

(c) The Human Right Council concluded its first session at Hague on 30 June, 2007.

(d) The Universal Declaration of Human Rights was adopted by the General Assembly
by a vote of 48 to nil with eight abstentions.

Codes :

(1) Only (c) is incorrect.

(2) (a), (b) and (c) are incorrect.

(3) (b), (c) and (d) are incorrect.

(4) (a), (b), (c) and (d) are incorrect.

Read the following statements and answer with the help of codes given below :

(@ Two persons are said to be related to each other by full blood when they are
descended from a common ancestor by the same wife.

(b) Two persons are said to be related to each other by uterine blood when they are
descended from a common ancestress but by different husbands.

(c) Two persons are said to be related to each other by half blood when they are
descended from a common ancestor by the same wife.

(d) Two persons are said to be related to each other by half blood when they are
descended from a common ancestor but by different wives.

Codes :

(1) (a) and (b) are correct, but (c) and (d) are incorrect.
(2) (a), (b) and (d) are correct, but (c) is incorrect.

(3) (d) and (b) are correct, but (c) and (a) are incorrect.
(4) (b) and (c) are correct, but (a) and (d) are incorrect.

A person shall not be treated as Buddhist under sec. 2(1) of the Hindu Marriage Act, 1955,
if:
(1) Both of his parents were Buddhists.

(2) His father was Christian, mother was Buddhist and he was brought up as Buddhist
child.

(3) His father was Christian, mother was Buddhist and he was brought up as Christian
child.

(4) He wasa Muslim and has converted to Buddhist religion.

Paper-I1 12 JA-058-17



19. fr=fafad § 9 9 /4 9T T T2 88 ?

(a)
(b)

(©)
(d)

%< .

(=N

1)
(2)
©)
(4)

THETYeRR TN sl TATAT 3TMTTeh Te TS TRuS §RT WerT 1946 T &l TE o |

TR T i HeTa = 15 714, 2006 1 370 Jxdd §& 60/251 FRT 9.3, AHEEHR
3TTIRT 1 HHSTHHR IRTE § 97 34T |

AHEITRR aREg = &7 § 10T gel 9= 30 S, 2007 i THI {1 |
TR FRT Hadet feaone™ it g Weed 48 & Teheel ¥ Tl § 9k fhar T,
oo 8 wew 7 ae T faar |

% (c) T € |

(a), (b) 3 () Toid & |

(b), (c) 3 (d) T & |

(@), (b), (c) 3T (d) Tt oA & |

20. TT=AiTha oM i Ug SR A ST T %l B WerddT H SIS

(a)

(b)

(©)

(d)

T

(=N

(1)
)
(3)
(4)

3 AR TH-GH % Y07 T HaHl FEA § AlS STk Ml U & SR o TH & U wm
TETER A |

gl AT Th-TH o Faftest T Haelt Feetd & S 3! HIaTd U & ik 3 3ToTT-3TeTT
ufet st 9RTee & |

T AT TH-TH & g T Gadl FHeA ¢ AG 376 a1 T 81 3 o Th &l Tt b
TRTER A |

T AT Th-T o 35 T Gad] FHeelld ¢ ATG 37 [T Uah 81 {ohq AR SToRT-3TeT &l |

(a) 31T (b) WE €, T (c) 3R (d) W& F&T € |
(a), (b) 3R (d) Wl &, Fohq (c) W& T&T & |

(d) 3R (b) @&t €, Tohe (C) 31X (a) el &I € |
OENOESAOENC EIELER

21. T3 faaw stfufr=m, 1955 @ &rT 2(1) o ded U e s gaideidl =&l JHT S, 3iS ;

1)
(2)
©)
(4)

JA-058-17

IHE AA-fUat 3T a2 |

3T T $TE 31X AT Siieg of 3R SR TAH-ITe U S STeTsh ot a¥e gafl T |
3Tk AT TS 31X AT i off 3T IHH ATH-UTeH SHTE JTeTeh i aRe gaTl o |
g Gt o7 3R 39 Sy 6F H o qNae 6 § |
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22. Ancient sources of Hindu law are :

(1)
(2)
(3)
(4)

Custom, Sruti, Precedent
Sruti, Vedas, Custom, Legislation
Smritis, Custom, Precedent

Sruti, Smritis, Custom, Digests etc.

23. The Muslim Personal Law (Shariat) Application Act 1937 is applicable to all kinds of

Agricultural land, testamentary succession and Charities other than wakfs.

property except

(1)

(2) Testamentary succession and charities other than wakfs only.
(3) Agricultural land and testamentary succession only.

(4) Agricultural land and charities other than wakfs only.

24. Match List — I with List — Il under the Hindu Marriage Act, 1955 and give the correct
answer using the codes given below :

List—1

a. Age of marriage I.
b.  Breakdown grounds of marriage ii.
c.  Overriding effect of Act ii.
d.  Registration of Marriage iv.
Codes :

a b c d
1) ([ [T R \Y,
(2 i i iv i
(3 i owoivi
4 iv i i ii

List— 11
Section 13(1-A)
Section 8
Section 5(iii)

Section 4

25. Presently the Hindu Marriage Act, 1955 recognizes the following theories of divorce :

1)
)
(3)
(4)

Paper-II

Fault and Mutual Consent

Mutual Consent and Breakdown of Marriage

Fault, Breakdown of Marriage, Mutual Consent and Customary

Fault, Irretrievable Breakdown of Marriage and Mutual Consent

14
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22. &5 A % UM B €
(1) fa-Far, gfa, gaRmeo
(2) Hfq, ag, Afd-Rar, fagas
(3) wfa, Afa-fams, geigreon

(4)  ofq, Fiq, Afq-Rar), IR-90E, TS

23. T g™ qgAe @ (YRIF) TeArhyH U, 1937 Feifhd o fhaeh etetman @eft wehr @i duta
A B & 2
(1) FT g, IFF H SIgH THFA STAHR T AT Hrd
(2) A TFE Pl DISH THEA STAIDR SR THS H
(3) HaeT P Y R T ITRIMIDHR
(4) ol BN Y A THE B BIgHT gHY HE

24, Tg foaw sfufay, 1955 % ded Tt — | & gt — || § GAfd Y 3R = U M0 %t § F ¥t

IR
= - | = - 1

a. foaw =l ey i YRT13(1-v)
b. foa® & oT%a e F MER i, ¥RI8
c. SIuFEY % STARE yAE iii. =T 5(iii)
d. foam® & st iv. RT4
H

a b c d
Qi i i v
@ i i v il
@) Qi i v
@ iv i i i

25. gane ¥ &g foare sifufTem, 1955 et & Hifsha fagial sl Hr=Iam a1 ¢ :
(1) Ffe IR ot Tenta
(2) STUE Heufd 31 foame Ht STatherd
(3) e, Taame Ht STawerdT, U FeATd 3 FImTd
(4) Ffe, Taame Ht Yot STIRETAT R S FeHtd




26. Talag ahsan is
(1) Irrevocable
(2) Revocable during the tuhr in which it has been pronounced
(3) Revocable until the next successive tuhr

(4) Revocable during the period of iddat

27. Match List — I with List — 1l and select the correct answer using the codes given below :

List— 1 List—11

a.  Proposal I Grainger & Son V. Gough

b. Invitation to make an offer ii.  Maharashtra Rajya Sahakari Kappas
Utpadak Panan Mahasabha Ltd. v.
Manga Bhaga Chaudhary

c.  Communication of acceptance iii.  Henthorn v. Fraser

of offer by acceptor himself
d.  Revocation of offer iv. Powell v. Lee
Codes :
a b c d

@ ii0 v i

2 i i v i

@ i i i v

4 iv i i i

28. Read Assertion (A) and Reason (R) and answer using codes given below :

Assertion (A) : An agreement made with consideration is void unless it is in writing and
registered.

Reason (R) : Because Section 25(1) of the Indian Contract Act stipulates so.
Codes :

(1) Both (A) and (R) are right and (R) is correct reason for (A).

(2) Both (A) and (R) are wrong.

(3) (A)isright, but (R) is wrong.

(4) (R) isright, but (A) is wrong.



26. Tl 3&dH
(1) T =&t ferar T g |
(2) 39 T H R o < wehan € ek SR 2 T o |
(3) 3PSl 3T Aol qeX ek R fehalm ST Wkl € |
(4) & H @Y & IR T FFar ST FHar € |

27.  gE — | T G — || b THAT 3R e S TerdT 9 el 3T 9

Tt - | et - 11
a. uwE i, TSR Ug O S99 TH
b. W& I I AT ii. HERT T HehRl HUH Scd1geh qUH

T foT. S S 9 =’y

C. T WHR A A FR U@ i, g a9 e
T TP bt T G 3T |
d. u=E F e iv.  OTeeT A off
<
a b ¢ d
@ i 0 v i
@ i Qi v i
@ i i i v
@ v i i i

28. 3R (A) T 0 (R) 1 U¢ 3R FHe i Terdar ¥ Tal 3T 9
afirrere (A) : T afawet & foTe o 7o s afg fefead 31X Usiihd el &f, af 98 I € |
qF (R) : i YA IR BT & =95 25(1) | Fal o (et fovar man g |
F:
(1) (A) 3R (R) I Fel & a1 (R), (A) & T Tt deh u&qd Far € |
(2) (A) 3R (R) g o € |
(3) (A) W g W(R) T & |
(4 (R)TE g W(A)TAT T |




29. In which one of the following cases doctrine of frustration was laid down ?

1)
)
©)
(4)

BOI Finance Ltd. v. Custodian
Orissa Textile Mills Ltd. v. Ganesh Das
Sachidananda Patnaik v. G.P. & Co.

Taylor v. Caldwell

30.  Which of the following statement is correct ?

1)

()

(3)

(4)

A person who wrongfully rescinds a contract is entitled to compensation for any
damage which he has sustained through the non-fulfilment of the contract.

A person who rightfully rescinds a contract is not entitled to compensation for any

damage which he has sustained through the non-fulfilment of the contract.

A person who rightfully rescinds a contract is entitled to compensation for any

damage which he has sustained through the non-fulfilment of the contract

A person who rightfully rescinds a contract is entitled to compensation for any

damage which he has not sustained through the non-fulfilment of the contract.

31. Every person is competent to contract

1)

(2)

©)

(4)

Paper-II

who is of the age of minority according to law to which he is subject, and who is of
sound mind, and is not disqualified from contracting by any law to which he is

subject.

who is of the age of majority according to law to which he is not subject, and who is
of sound mind, and is not disqualified from contracting by any law to which he is

subject.

who is of the age of majority according to law to which he is subject, and who is of
sound mind, and is not qualified from contracting by any law to which he is subject.

who is of the age of majority according to law to which he is subject, and who is of
sound mind, and is not disqualified from contracting by any law to which he is

subject.
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29. TrAfefEd 5 9 fvq amet | fawhelishor s fagid T@n T 2

(1) S 3T 31T HEAE e S Seitead

(2) ofifear CoaerEet e fot. s TToteT I

(3) HicagHT YT A ST, U ot

(4) TR S M Plosdd

30. FrefafEd § 9 i 91 e 98l & ?

(1) U A S ToTd Tk | FHR Gied Al €, ST THAH S TS U SR &, 5
R A AT T&l & hl aoTe F 3 IS UL & |

(2) U AR S TEl TRk ¥ R Tied FAT &, ST THAH F TGS T I HRT - 8,

STt S T ITeT A8l 8 % HRUT 3T 3SHT U |

(3) UF Al ST Wel Tk H HR Gied HAT &, ST THAM BT 3T T H ATBRT €, ST

FIR T U 18T &I % HROT 3T 33T TeT |

(4) TH S W TS F I Bfed FA €, I THAH B J3TE a1 SAHRT E,

IR T U -8l & 0 oY ST i ST UeT |

3l. U 9 Al R HH & AT €,

(1) 3T HFA & AR = ¢, 519 T & o8 o &, S @ f5unT aren € 3w &9
T ol T §RT R B o ST el g4 T4 &, TS579eh o8 3/ € |

(2) S 3T H % AR TGk §, 9 A & a8 I €, S @y fGmn aren € ik 5
U el S R SRR 6 3T T 23 T &, ek a8 enedA

(3) S 3T FHFA F AR Tk &, 9 9 3TH &, S @ FGunT Aot €, e v ot
HA FRT R o [T ST &1 ST W@ &, oo a8 S/ ¢ |

(4) S 39 FFA & AR T ¢, [0 98 oT€ &, S W@ ARk aren € 3R foRr of o
FH R foRdlt SRR & ToTw 37ame =&t 2gwman ma, f5eh a8 ot € |




32.  Match List — I with List — Il and select the correct answer using the codes given below :

List—1 List—11
(Types of Vitiating elements of (Relevant case-law)
a contract)

a.  Undue influence I. Nursey Spg. and Wvg. Co. Ltd., Re
b.  Misrepresentation ii.  Jaggan Nath v. Secy of State for India
c. Fraud iii.  Lancashire Loans v. Black
d.  Mistake iv.  Derry v. Peek
Codes :

a b c d
L dioiv i i
2 i i v i
3 i i v i
4) i i i v

33. Read Assertion (A) and Reason (R) and answer using codes given below :

Assertion (A) : Compensation is recoverable for any loss or damage which the parties

knew at the time of the contract as unlikely to result from the breach of the contract.
Reason (R) : Because above rule is laid down in Hadley v. Baxendale case.
Codes :
(1) Both (A) and (R) are correct and (R) is correct reason for (A).
(2) Both (A) and (R) are wrong.
(3) (A)isright, but (R) is wrong.

(4) (R)isright, but (A) is wrong.



32. gt — | & gal - |1 % 91 ot qen e ot Herdar ¥ el ST 9

Tt - | T - 11
(AW i G B AT (Weifere ohaw)
HRHI & THN)
a. e s i, R g Eifent sl fefies
b. IHFIH ii. ST AT S kel ST W B giear
C. U iii. TR o S =ih
d. 9o iv. U s 9
%
a b ¢ d
@ i v i
@ i i v i
@) Qi 0 v i
4) o T

33. WA (A) T T (R) 1 U 31X F Sl Feradl ¥ Tl SR q9

e (A) ;U9 fodt Tam a1 &fd & faw 5o @ geest agelt @ &, 9% an o
TRTHRT 3T R o T HIGTH o7 o X 7T & | UHT Toha/27d =12l &l Wabetl |

A% (R) : Hifh §Sol T SoFISeT AT | I8 0 o] fohar ST g ¢ |
B!

(1) (A) &R (R) 3 W & @ (R), (A) F T T TH ¢ |

(2) (A) 3R (R) I TTord € |

() (A)FIE W (R)Td g |

4 (R) W& W(A) T E |



34.

35.

36.

Match List — I (Name of case) with List — 11 (Decision of case) by using codes below :

List— I List—11
(Name of case) (Decision of cases)
a.  Manju Bhatia v. New Delhi i. Liability of owner of tree for an injury
Municipal Corporation caused by its falling
b.  Municipal Corporation Delhi v. ii.  Legal duty of Railway to assure reasonable
Sushila Devi safety at railway level crossing
c.  Union of India v. Lalman iii.  Teacher’s duty of case towards children
when they are taken out on a picnic for fun
and swim
d. M.S. Grewal v. Deepchand iv.  Liability of builder towards purchasers of
Sood flats
Codes :
a b c d
@ i i i v
2 i v il
(3 i v ii
4 v i i il

Read Assertion (A) and Reason (R) and answer using codes given below :

Assertion (A) : Acts of state are directed against another sovereign state or its sovereign
personally or its subjects.

Reason (R) : Acts of executive Government in the name of President in normal course of
administration are acts of state and are not open to judicial scrutiny.

Codes :

(1) Both (A) and (R) are correct and (R) is correct reason of (A).

(2) Both (A) and (R) are correct, but (R) is not correct reason of (A).

(3) (A)isright, but (R) is wrong.

(4) (R)isright, but (A) is wrong.

Which of the following is correct ? Answer by using the codes below :

(@) Corporation is vicariously liable for acts done by its employees.

(b)  Minor is liable for the torts committed by him.

(c) Wife is liable under law of torts to her husband if she negligently fractures his legs.

(d) Tort committed by any partner in the ordinary course of business of firm all other
partners are liable.

Codes :

(1) (@), (), (c) and (d)

(2) (), (b) and (c)

(3) (a), (b) and (d)

(4) (a)and (d)
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34, T - | (FF HT ) B G — || (FF F HHAT) & A AT TAT Fe D TEdl T el SR G
= - | = - 1
(9 BT ) CRER )
a. T Wi s = feoott FAfUer i Ug % RA @ o a9 & fow g @
HTIREH AT MR
b. HHEUA FORYAE, oot I ji.  IoT9 % GHUR T U oA T e
gelen 34t AT ToTel Tt BT STATEISET
C. HRd G I AT iii. g o=a UHHw X Il & T =T o s
T RT3 fereTeh T e |
d. THUE YAt S S9Es 9 iv. TR % TRIGIRI % U fooet & STEgRt
%
a b c d
@ i i v
@ i i v i
@) i v i i
4 v i i
35. 3R (A) q° @ (R) 1 ¢ 3R 1 ST e ot e ¥ el 3T 9T
Ao (A) : T & Fod hdl T TN A 7 ITh WY AfKIcd a1 39 IS & faeg
M Bl & |
% (R) : @ (oot 5 JHe WRmee & fow Iegufd & A W T ST 1ot TR & SR
FA AL & P ¢ ST SR =1 S 780 Bl ST el T |
T
(1) (A) 3R (R) &l & 3R (R), (A) T T& FRT & |
(2) (A) 3T (R) IHT &l €, W (R), (A) T T&l HRT Tl & |
(B (AT RR)TTL |
(4) (R)WE & W (A) T ¢ |
36. fiad § @ %9 AUY T Tel 8/8 2 F F Teradl 9 Fel IR 39
(a) T 79 FHANE R 6T TT Feali & [og Airrae & § SRR € |
(b) 3R U UHA & ol IR € |
(c) TS el I RN @ Ul ot 21T 22 Sl &, o Uedl 21 A o Sidqd 39 fore MR
T
(d) et w8 & G HEES % SRE R 9 e 5T T T Suee (216) % g gEY
Tt IR SRR T ST |
FT
1) (@), (b), (c) R (d)
2) (@), (b) =R (c)
3) (a), (b) R (d)
4 (a) @R (d)
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37. Inwhich case the principle “ubi jin ibi remedium’ was recognized ?
(1) Rylands v. Flecher
(2) Asbhy v. White
(3) Ashdown v. Samuel Williams
(4) Pema Chibber v. Union of India

38. State Government may notify that State Commission may perform its function at other
places other than state capital. Who needs to be consulted by the State Government for
such notification under Consumer Protection Act ?

(1) Central Government

(2) National Commission

(3) State Commission

(4) State Commission and High Court

39.  Who among the following cannot file a complaint before the District Forum under Section
12 of the Consumer Protection Act ?

(1) One consumer and not more than one consumer
(2) Any recognized consumer association

(3) Central and State Government

(4) One or more consumers

40. ‘The degree of cogence need not reach certainity but it must carry a high degree of
probability.’
As per the statement answer using codes as to in which of the situations, in sequential
order the principle of natural justice is applied :

Codes :

(@ Alibi (b)  Self-incrimination
(c) Presumption of innocence (d) Strict liability
Sequence of order :

(1) (@), (0), (c), (d) (2) (d),(c), (a), (b)
@) (c), (b). (a). (d) (4) (b)), (c). (d), (a)

41. The principle of ‘Quod necessitas non habet leegen’ is applied in circumstances of
(1) anactdone in order to avoid consequence
(2) inalittle harm that resulted in the consequence
(3) aharm resulted in order to do another evil
(4) self-preservation
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37. ToeAfciiEd & 9 fohg At § STt SR &, 9T ST9R W & 1”1 fagia oy fohan i 2
(1) oigd T M Tl (2) TR TH RS
(3) UTTSTSH T AT fafermg (4) UET SR S 9RA 99

38. TG WK I AUGMad H Tohell ¢ b T AN, T9F 1 ISTHHT & 9861 hal 37 ©IF 9
STOHAT T UM | ST YT FHIFA o STe THT STEgemT & oI T TR ot Fohad wRrast
HEAT TE & 2

(1) &% TWHR (2) TET SN
(3) T M (4) ST RN TA IoA AATAT

39. T=fcifad § & SF ST URI0T A o+ SFR-12 & iqva ol ®RY § 1 357 Taf

(1) U UM, Uh O 31T ST el
(2) P ot Wiha ST T

(3) X AT T THR

(4) U AT STeH ST

40. ‘FTpieIar &t feut S T o FfvEdar @ It 8, W SuH e 1 WX B ST g
T 1’
YT FUF & TeH H e F S Feddr ¥ Se o S9fies =r w fegia aRfefaat &
T s | STORTET ST € 2

FT

(a) o fefa (b) w@-IFRo
(c) FrsifET =1 A (d) ot frery
HETHIHA

1) (@), (b), (c), (d) (2) (d), (c), (@), (b)
3) (c), (b), (3, (d) 4 (b)), (c), (d), (3

41. ‘3T AHEES A g oS 6 fagid foee aRkfeiaat | oy T s & 2
(1) RO S UL FHA AT TS
(2) UROTHEEEY B aTel el TR
(3) U THAH S TER SR B S 54T
(4) AT G




42. Aggravated abetment can be found within the public
(1) when the act was done by any one of the ten or more members present.

(2) when the act was done by one of the seven members while collecting funds from
other public.

(3) while a person affixing a poster on the wall specially called attention of an assembly
of five persons to protest against police excesses.

(4) when an un-named member of a fluctuating population incite others to undertake a
strike to stop train movement.

43. In which of the matters it was held that disclosure of identity of victim either by printing
or publishing will not amount to penal liability ?

(1) Inajudgement given by the Session’s Judge on the ground of social victimisation.
(2) Inajudgement given by the High Court on the ground of Ostracism.

(3) In a judgement given either by High Court or Supreme Court on the ground of
preventing social victimisation or contracism.

(4) Inajudgement given by the Supreme Court on the ground of prevention from social
victimisation.

44, Read Assertion (A) and Reason (R) and answer the reasonableness using the ‘code’ given
below :

Assertion (A) : Section 304-A is directed at offences outside the range of Sections 299
and 300.

Reason (R) : It contemplates those acts into which neither intention nor knowledge enters.
Codes :
(1) Both (A) and (R) are correct as the act results from rash and negligence act.

(2) (A) is correct as certain acts are unjustifiable while (R) is not the correct reason as it
falls short of culpable homicide.

(3) (R) is correct while (A) is incorrect application to the rule of culpable homicide to
cause murder.

(4) Both (A) and (R) are incorrect statement as to imposing penalty.
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42, g S SHAM H UTHAT S Fhell § -
(1) e Sufedd 39 & § 9 Ush a1 U 9 31 = 9 % et |
(2) & T A G S UHA FId g A 9Ei H ¥ R U F 9% H fowaAr & |
(3) & AR W YRS T g U ANl & U e i foviy &9 § ety samsedt ¥ aa= &
form e feomar &t |

(4) T frdt Sgat-gedl g HT T ST ST JE Bl - Ah b [0 EgaTeT T T SH]
W@ |

oo

43, T=fatEa 9 9 g 989 4 g9 7 71 ¢ 6 difed 9et o teee STEEr a1 Y gRT 39T

AT S el HAT ST ?

(1) T SedigA % SMER I 9 =AEmHeT §R1 K0 7 et 7 |

(2) TaEE % YR W o0 <AEed 51T 5T 0 HEe 7 |

(3) TSI STHTE 3TdT — (AETHR) & YR W 34 I Seadd <IEerd 51T T T Hael 7 |
(4) IS Sedie & Y % SMUR T oy e 51T KU 70 et 7 |

44. ATHIT (A) T T (R) T 3R A9 ST T Fe | el I S0
AHAT (A) : 3T 304-A 37 3TN Ff WE MR & S 3T 299 T 300 % & o
T E |
% (R) : 98 39 Fedl W o Xl &, [ 7 o RT3 7 & SAFHRI Sl e o @l ¢ |

Fe:

(1) (A) R (R) I eI €, il ¢ Fed Al R AR Sl IOMT 8l ¢ |

(2) (A) T ¢, Fifh FT FI Irad Tal 26T ST Gebel | WK (R) TN Tel HRUT & ¢ |
Fifeh g S A F¢ i S0 H T S |

(3) (R) Wl &, STafh (A) 01 % HRUT % €9 H AIF AT 96 i Tel &1 § AR] Tel Ll |
(4) (A) 3R (R) 3 &8 AN A % Fag H ToHd & |




45.

46.

47.

Read Assertion (A) and Reason (R) and answer using codes given below :

Assertion (A) : Multiple Trade Unions in industries and the consequential necessity for
selecting one as the recognised union by the management devising a method on
democratic principles is necessary.

Reason (R) : The Union which represents the largest number of workmen working in the
undertaking must acquire the status as that would be in tune with the concept of
Industrial democracy.

Codes :

(1) (A)and (R) are correct and (R) is the correct explanation of (A).

(2) (A)and (R) are correct and (R) is not the correct explanation of (A).
(3) (A)is correct, but (R) is wrong.

(4) (A)iswrong, but (R) is right.

“The working class unfamiliar with the sophistications of definitions and shower of
decisions, unable to secure expert legal opinion, what with poverty pricing them out of
justice market and denying them the staying power to withstand the multi-decked
litigative process, defacto is denied social justice if legal drafting is vagarious, definitions
indefinite and court rulings contradictory.”

The above remarks were made in support of an expensive definition of “Industry” by one
of the following justice :

(1) Justice O. Chinnappa Reddy (2) Justice V.R. Krishna lyer
(3) Justice Gajendragadkar (4) S.P.Bharucha

Which one of the following is incorrect ?

(1) Workman whose name is borne on the muster rolls of an industrial establishment
and who has completed one year of continuous service under an employer is laid off,
whether continuously or intermittently shall be paid by the employer for all days
during which he is so laid off except for such weekly holidays.

(2) Termination on the ground of misconduct or continued ill health of a workman is
not a retrenchment.

(3) Lock-out means the permanent closing of a place of employment, or the total
suspension or the refusal by an employer to continue to employ any number of
persons employed.

(4) The right to close down the business, trade or undertaking is subject to payment of
compensation to the workers engaged in the business immediately before the
closure.
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45.

46.

47.

YRR (A) T 7% (R) T 3R = T e ot Terat ¥ Fal 3T S

AMHHYA (A) : SHM H 3FF AT Bl IURATT 3T 3T T8 AN (GGl I AR
ugid | UG gEA 1 TG ST ey gRT e 8, AEvEh ¢ |

% (R) : I8 31 39 g T AT AET ST g gt G | BRI T Wi H @,
TEI ST SAiehed & e &I |

F:

(1) (A) 3R (R) T € 3R (R), (A) Tl Tel =& FAT T |

(2) (A) 3 (R) &l & T (R), (A) Pl Tel =7 i € |

(3) (A) T T, W(R) T T |

4) (A) T g, 3 (R) Wl & |

“sifien o St URWTNST st aRifRal 3R FHel el ¥ SuRied €, o S Tole o |
3T &, TRIS Y 1T & TR 9 aeY Y @ & 31T Tgerig Gohad ! Uhar § SIiereret Fei o=
WA A, T H A S It TS 8, GRE SHEd & SR ST SRy WER
foriedl &, o o aede § 3§ QiHIsTeh =g 9 ated s g 17

‘T W TIARE TR & gHe | g fewuit fefoiad § @ g =magfa F & ?

(1) =rEgfa o, Fa=o (2) =Y o SR FOM =R
(3) =T TNIE TSR (4) THIL w&=
freferfad o @ =i &t T2t € 2

(1) =g fSraepr A frdt sirenfres ufqeem @t sufefa i o fomr &, o e ww ame
T SR AR Hf ¢, ME TREAR AT THITR T §RT HH 9 3o 91 f§a1 S &, a
3 AdAlieeh TR FHl SISH I 39 aY & o0 i foran s, 1 smaty o 39
T TR TE@T T |

(2) T SRR AT AR G W % YR W HHER] 6l 82T H21 T8l § |

(3) dTCAERT 1 37 & ISR o Ueh Tet o1 T €7 F % T 37 31 quT Fefar an faier gr
fopdlt oft T & SHaiEr st ffo S SRR W& & T |

(4) 3T FUR, FRER AT UTRH Hl &5 FA HT SAHR, ITH T 7T FHAANAT Hr &1 &
g EST 3 A ¥ |
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48. Match List — I with List -1l and select the correct answer using the codes given below :

List—1 List— 11
a.  Kalinga Tubes Ltd. v. Their I. Deduction of wages for the period of
workmen strike
b. Bank of India v. T.S. Kelawala ii.  Closure has to be genuine and
and others bonafide
c. Bombay Union of Journalist v. iii.  Definition of Industry
State of Bombay
d.  Coir Board v. Indira Devi P.S.  iv.  Condition precedent to retrenchment
and others of workman
Codes :
a b c d
Q) aiio i [ 0\
2 i i iv il
3) i i v il
4 v i i

49. Reference of an Industrial Dispute, the subject matter of which is covered by a settlement
as defined in Section 2(P) of the Act would be :

(1) valid during the operation of such settlement
(2) invalid during the operation of such settlement
(3) valid and subject to the importance of Industrial Dispute

(4) voidable at the option of the parties to the dispute during the operation of such
settlement

50. Read Assertion (A) and Reason (R) and answer using codes given below :

Assertion (A) : The retention of Industrial Adjudication is necessary till all Trade Unions
attain sufficient strength to bargain with employers, from a position of equality.

Reason (R) : Collective Bargaining presently provides only lip services, whereas in
practice it has perpetuated Adjudication.

Codes :

(1) (A)and (R) are correct and (R) is the correct explanation of (A).

(2) (A)and (R) are correct, but (R) is not the correct explanation of (A).
(3) (A) is correct, but (R) is wrong.

(4) (A)iswrong, but (R) is right.
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48, Tl — | B g 11 T GAfAT Y 3R A ST T Fei B TET FRA T T SRS
el - | T - 11
a. oM o fof. a9 SToh AR . &Sl &l 318ty & foTd o @ Ferdt

Jo 3 fedl ST A TEHAET §i.  §&I ARATaE q€ GEHEer §F AT |
qgqr Y

c. 9 IFEA % SHieRed MW jii. ST HI g
W AT F

d. TR E W SR IS AL T, jv. IR & Sl i STEw i gd Mo
9471 T

B

a b c d
@) i i i iv
2 i i iv i
3) i v il
4) iv i i i

49. T i faag @ Sooiw, o faweeg w7 % o= 2(p) § Wiy weee &
3R g3T FuerT ¢

(1) 39 IR & frarfad g9 & 99g 9= g |

(2) 39 FUeR & fhareeH & 99T ST BT |

(3) I BN 3R ST foreng & Hewd i faw e |

(4) T9eR & fraraas & qua foarg & TeTehRi o |- ST i dehed g |

50. ke (A) 3T e (R) 1 U 3K =i ST 7 B2t =1 Tt st 8T Wel SR S
AWFT (A) @ FEINTH FAACOET F a7 WA T8 G A €, 96 a% T o8 Jra
TateRTT & SRTeRY o TR W HieTdlel H Vet T&l e T et |
% (R) : 9Mfes Hiordiel a9 § f9h Fe #t o1 ¥ 7S €, SFeeR § Ay H ggd e
FRAE |

HT:
(1) (A) 3R (R) T Tt € 31X (R), (A) F Tel A=A 7 |
(2) (A) T (R) IHT &l &, T (R), (A) P Tel = & ¢ |
(3) (A) Wl g, g (R) ToId & |

(4) (A) e &, fohq (R) Wl & |
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